
Midterm Exam
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Median: 76

 
Answer Key: 

1. d   2. b   3. b   4. a or c   5. d 

6.1  σx = 31 MPa   σy = -33 MPa   τxy = 0 MPa 
6.2  σ1 = 31 MPa  σ2 = 0    σ3 = -33 MPa 
6.3  τmax = 32 MPa  στ1 = -1 MPa 
6.4  I1 = -2 MPa   I2 = -1023 MPa   I3 = 0  

7. 
 
 
 

 
8.1  σz = -50 MPa   σy = -18.5 MPa   σx = 0  
  εz = -0.696    εy = 0    εx = 0.4088  
  

Sσ = 50 MPa   Hσ  = 50 MPa  XS = 2   XH = 2.28 
8.2  E’ = 71.8 MPa     8.3  σH = -22.8 MPa  
8.4  εv = -0.287    8.5   B = 79.5 MPa 

Eng. Stress True Stress True Strain 
127.3 127.3 1819 
382.0 384.1 5442 
1273.2 1571.9 210,721 


